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11. Which statement is true regarding the series Z(
\/ nZ+4+n

(a) None of the other statements is true.
w The series is absolutely convergent by the Test for Divergence.

(¢) The series is divergent.
The series is convergent, but not absolutely convergent.

%) The series is absolutely convergent by the Ratio Test.
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13. For which series below is the Ratio Test inconclusive?
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17.
(a) (6 points) Find a power series representation for f(x) = 3 +14r about a = 0.
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13. (12 pts) Express f(x) = In(5 — #%) as a power series about x = 0 and identify the radius of convergence
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4. (4 pts) Using the Alternating Series Estimation Theorem, how many terms of the series do we need to add in order

to find the sum of the series i (713;“ with error less than 6%’
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(ii) (6 pts) Using the result in part (i), write / sin (—3) dr as an infinite series.
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. Consider the series below. Which statement is true regarding the zlh‘-solé‘rv convergence of each series?
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(a) I converges absolutely, I converges but not absolutely
(b) Both I and II converge but not absolutely
(¢) Both I and II converge absolutely
(d) Tdiverges, II converges absolutely
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I converges but not absolutely, IT converges absolutely
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7. What can be said about the convergence of

17

(b) I diverges, II converges
I diverges, II is inconclusive
(d) Both I and II converge

(e) Iis inconclusive, IT converges
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23. (10 pts) Express f(x) = v

wrae as a power series centered at zero. Include the radius of convergence in your
€T 4
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8. Given the power series for
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